ABMFERHF THHAREMN—ERER

—. ., (@#F 1, H21)

1. 2.05 Aki=( YFK 8 50 T 5 =( Yt
10.73 F2K=( YO )2k 10785 4 =( )JT

2. —ERE=MIE I — DR 36°, T AZ(

AN R A A ( )o

3. ( N 0.01 2.3, 3 BHA(

), WERTHUA A2 36°,

0.1,

4. FWEMW CUESF) @A EFHmE2 1, £H325 997000000
¥ RIERECT U B <7 BT IR (

T ) FE 2 72 ( )T

()}

N
EH 4 NIEFE,

)T AWAL)E

- 10 fERIBCR R — A=A, R =M 0 A AT ( )o

N I fig

7. —ANEFBE=MIBHMFLLZ 3 em Al 5 cm, A=A TR H

S )o

oo

L =M R T JEORAT 10 R, XA =AERE =

KR EK, R VEK. (ZAEH=%L

A2 B K AR

9. — RN BUS I A RN E, EEESRITEEEI T 198, Jik

XA )

10. 404 12, 18,24, a, 35 X TAEUFEUE 21, H4 a 72( )a
11. WHmE%E, AL 1004, BI316 H. HA(

YR, WBEC R,



T MR (REELL O, k6 D)

B =B RE C )

2. FEANHIIRRER L0 8iE 107, XA ARDAZE, ()

()]

@)

. 36+(3+9)=36:3+36-9 ()

L A=A NARMETE =AM, X2 DNEMA =M.
C )

LT 0.75 §ORBIEM) 100 £, siAEAE 075 WS E 2 4 0.

C )

IR, BRI B SR =R 95 71,

[RITE SRS — RE S 95 7)o C )

E\ iZH_E:,—AiZH_E:.D (ﬁ ]J’ /\ )

& 9 &

. PN 10 SRR ).

A. 10.02 B. 10.001 C. 9.998

X3 A, NC IR BIRFEARARTE -

4.

A. E B. fJ C. £

c NEH=HLEB, AR =AENHZEC ).

A. 0.08 m. 6cm. 1dm B. 2cm, 16 cm, 17 cm
C. 3cm, 8cm. 5Scm

TR — AN E, H—REFET 21 0, AT 16 7, %
TOREE T 17 UG, ABMFEESE, FRARPIEERE( ).

A. 17 B. 21 C. 27



5. AERBATLKSR 2 4K TPt B, B YT R2 R 43
A ) FIrake
A. 2 B. 4 C. 8

., H—8. QE105, 2/ 125, 37884, 3304

1. HiESHEH.

65x2= 390+30= 4.7+3.5= 2—0.8=
0.28x1000=  0.96+10= 190—12030: 11030+130:
25xTx4= 120+5+4=

2. THEFYIE&E, A H A B E R

640+[8%(3.7+4.3)] 48.76—(12.6+8.76)

101%x53—353 235—(456+304)+4



510+3+17 67%35+67x66—67

3. WHEANEZEL

v BFERE. QB3 7, 278458, L7 0)

| T S N T e P A s sh e M D

2. BB A4 AR 12 B RS2 ETE B, i LAREZR 9 R H 14
£ B R AR B, SRIEE C.

J




NN R (4 /6 gy, HREEE 5 7y, 3526 7))

&

1. NEF-LAMG B 88.6 6, HNHMZEZ 188 76, /MNEFK AN, L

2. 1000 M AN—KEENZ 5.6 Toodh, MIXHEAHE, 10 NS REEZZ

TR

3. 48 AL IME, — LA 1 10 60, BRI 6 N, Bk

INITAR 4 N o KA NIE S 270257

4. FRXTTROHE T %
HE—: A®A 100 76, JLEEAN 50 7t;

T BIR 10 NRLECE 10 N)EEA 80 Jt.



(WA 10N, JLE 4 N, EFRELEHERIE?

QA4 N, JLE 10 N, ERELEHEREK?

5. NHZMWWRSEREMN R SR KERGTR. (AL W)

FEE | B FE | B | BUEE
HH BH 2 28 32 25 23
=R |30 35 26 25
(WA TS,
+ F 7K S/ L
40 - oz
32 - 93 30

24
16
8

L NSNS S N
(= =1

Ve N

R M B RNEE
Q)M 15)5 A H/K £ /bt ?

AR Ik 12




>k
7

ER
1.20500 8.05 10 730 10.05 2.108° 72° 3.230 30
499700 J5 1012 5.180° 6.F _EEkHT
7. 11ecm B 13cm 8.16 4 92 10.16 11.58 42
1.x 2x 3.x 4~ 5x 67
1B 2.C 3.C 4C 5B
1.130 13 82 12 280 0.096 0.67 043 700 6
2. 10 274 5300 45 10 6700

. 180°—(25°+27°)=128° 180°—65°—40°—30°=45°

P/\k

’C G

2.
1.88.6—18.8+88.6=158.4(71)

INEEGR NS L AT HL B 158.4 TT.
2. 5.6-1000x10x1000=>56(7%)
% 10 N ANBEREENZ 56 ik,

3. KM (48— 10x4)+(6—4)=4(%)

/IMiE: 10—4=6(5%)

B KRAEAT 4 2%, /DA 6 7%



4. (1)10x80+4x50=1000(7T)

% 10 NERUAZE, 4 AL RIS,
(2)4x100+10x50=900(7T)

B 4 NLRAZE, 10 AL JLEZ BRI,

5. (1),
(2)(28+32+25+23)+12=9(Iifi)
(30+35+26+25)+4=29(Iif)

% WIS H RIK O M, SR 5P AT OK 29 W



